A1y b GU1, > 1)—X CG1

0821401019

2024-01-03

ZERNI1ZvV

h

AVENTICS 7i4 R1ZvY b

5 — &
TS5F

EANY O

ANO—72

B RS

B>V 2—H
ELRABEERE
E=ARRE
BEEOmmANO—7
EE+10mm ANO—72

ME

M2 NI

REWMBHN\IDY

WE A7

RN —7L—h

RE FLL—TL—h
MERNL—TL—NOBEHY T
ME R

RERAE

EX

32 mm
800 mm
BT
ISO 15552
-20 °C

80 °C

0.63 kg
0.0122 kg

TFILZZTOA

#/e 7INA b
B 5 i

FILZZOA

#\e 7INA N
ATVLAARAF=L
& R U BLA R o 8
ELE

5§

EMERSON

1



\3 —
=HI1 S1)—X £m1=
XAI1ZY k GU1, 2! CG1 =M .
0821401019

2024-01-03
NTUTINES 0821401019
N
&
B-B
L1 L14
L2 L15
t N | = 8
) &y I
>4 7 »_
¢ & | B
o N @ b o I~ %% R
o o o A{ o o o o X &ﬂ o @
At 2
@-l @ \1|\
I._ = A g
N | 2
\V%)
i I
| T2
L9+SC L10
L11+S
L16
A-A
G2 e} =
g Tk
S . \
S A4 —— / \
- ol |l [N/ N X
© x“ | H\
' N
e
~ e
L17
S=AkO—7
sC=>UrH—2KO—%
X = KBS (&)
Y = §/NED (8 )
EANY @ B1 B2 B3 B4 B5 B6 B7 B8 D1
32 90 78 325 74 58 100 48 32.5 1
40 100 84 38 80 64 106 54 38 11
50 120 100 46.5 96 80 125 66 46.5 15
63 125 105 56.5 104 95 132 76 56.5 15
80 155 130 72 130 130 165 98 72 18
100 175 150 89 150 150 185 118 89 18
EANY @ D2 D3 D4 D5 D6 G1 G2 KK L1
32 10 6.6 6.6 30 M8 18 M6 M6 M10x1,25 45
40 12 6.6 6.6 35 M8 18 M6 M6 M12x1,25 50
50 12 9 9 40 M8 24 M8 M8 M16x1,5 60
63 12 9 9 45 M8 24 M8 M8 M16x1,5 70
4
&
EMERSON.

2



ZRI-Y ~NGUT, > )—X CG1 EHI=Y

0821401019 h
2024-01-03
BN @ D2 D3 D4 D5 D6 G1 G2 KK L1
80 16 11 11 45M8 30 M10 M10 M20x1,5 90
100 16 11 11 55 M8 30 M10 M10 M20x1,5 110

32 325 325 325 9.25 9.25 31 17 94 69
40 38 38 38 11 11 37 21 105 74
50 46.5 46.5 46.5 18.75 18.75 34 25 106 89
63 56.5 56.5 56.5 15.25 15.25 51 25 121 89
80 72 72 50 25 14 56 34 128 106
100 89 89 70 28.5 19 71 39 138 111

32 106 48 12 48 325 14 22 15 10

40 117 58 12 56 38 14 22 15 14

50 129 59 15 66 46.5 14 26 22 16

63 146 76 15 76 56.5 14 26 22 16

80 170 90 16 98 72 14 32 27 24

100 190 110 16 118 89 14 32 27 29
EANY @ T2

32 14

40 14

50 16

63 16

80 20

100 20

BIMERH BIER

- 900

|
4 |- 00

700

:t— 600

— - e \ 280/0100
263
Y F o 2401950
200 f\
F=H%R%. Z=3RWHEL B

100 200 300 400 500 600 700 800 900 1000 1100 1200

[mm)

i

F=B#&#&. z=RWHL

A

&

EMERSON. 3



